Fyzika 6. ročník

VYPOČÍTAT

3 cm =			mm
3 cm 3 =		mm 3
3 cl =			ml

50 cm =		mm
50 cm 3 =		mm 3
50 cl =			ml

8 dm =			cm
8 dm 3 =		cm 3
8 dl =			cl

56 dm =		cm
56 dm 3 =		cm 3
56 dl =			cl

3 m =			dm
3 m 3 =		 	dm 3
3 l =			dl




89 m =			dm
89 m 3 =		dm 3
89 l =			dl

13 cm =		dm
13 cm 3 =		dm 3
13 cl =			dl

5 cm =			dm
5 cm 3 =		dm 3
5 cl =			dl

4 cm =			dm
4 cm 3 =		dm 3
4 cl =			dl

74 m =			dm
74 m 3 =		dm 3
74 l =			dl

596 cm =		dm
596 cm 3 =		dm 3
5596 cl =		dl



UČEBNICE
[bookmark: _GoBack]STR. 100	 		přečíst 
STR. 101			opsat žlutý rámeček
STR. 101/1, 2  		odpovědět na otázky
STR. 102/4 obr. 1.92	napsat do sešitu

